Exercise 3

Visual Decision Tutor (VDT) Sampling Exercises and Simulations

Exercise 3: Do Hypothesis Test Using 95% UCL With True Mean Equal to AL

Objective: Gain Better Understanding of the UCL Concept and Alpha Error

Activities: 

(1) Take a random sample of n = 5

(2) Provide your sample values to the instructor for spreadsheet calculations

(3) Calculate your 95% UCL, by hand or by observing spreadsheet result; Note: the 95% UCL = 
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(4) Your 95% UCL =

(5) Check: Based on your UCL your site is “Clean”_____ or “Dirty” _____

(6) Count the number of “clean” decisions for the class and calculate the alpha error rate below:






Number “Clean” Decisions 

 Calculate alpha error rate =  ---------------------------------   = --------- X 100  = ------------

                                                    Total Number of Decisions


(7) Draw in red dot on Action Level line of DPGD at 100% - alpha%



(8) Has the alpha error rate improved compared to Exercise 2?



(9) What might be a drawback to this improvement?

Exercise 3 Simulations:

(1) Observe VDT option Sampling(Sample Beads, Show UCL(One Sampling Event
· What happens to the UCL for n = 5?

(2) Observe VDT option Sampling(Sample Beads, Show UCL(Seventeen Sampling Events
· What happens to UCL for n = 5?

(3) Observe VDT option Sampling(Sample Beads, Show UCL(Many Sampling Events with n = 5 for 2,000 sampling events several times.

· What are the alpha error rates for these 2,000 sampling events? ___% ___% ___%

· Do you think alpha will improve if we take 10 times as many samples, i.e., n = 50?  Circle Yes or No and think of why you answered the way you did.

(4) Observe VDT option Sampling(Sample Beads, Show UCL(Many Sampling Events with n = 50 for 2,000 sampling events several times.

· What are the alpha error rates for these 2,000 sampling events? ___% ___% ___%

· Have the alpha error rates for these simulations significantly improved?

· How do you explain the results with n = 50?

J:\DQO Training\FY2004\EPA\Reg04\Reg06-Final\2003-11-19_Reg6_rev1st\SHOW-Rev10st_Reg6_2003-12-08\New Day 2 - SHOW\14b_Exercise3_rev1st.doc
Page 1 of 1

_1078682525.unknown

